20 RESRBBIBRFAXIE. HRE. RIE Gok)

NAERE
SREAXE . B RIELFENEFFEEE | RIPEZEEY, X—ETAANESHEN, RATKH
FREE, AREEREAR RS, W ERZHAW, BN, AfgkakF.
BT 457 R

KB : RFEKR—XZ

(5] 1] (218 SHEE f(x)=x"-3x"+5, W C )

(A) f(x)A 2 PHE A

(B) f(x)A3INTER

(C) R(1,3) ZHIZL y = f(x) B FRAG

(D) HZ y=-3x+672H%k y = f(x) W)Lk

Bt AT, AR, f/(x)=3x"-6x=3x(x-2), FTLLf'(x)>0x<08ix>2, f'(x)<0&<0<x<2,
W f(x)1E (—0,0) & 7, 7E(0,2) F N\, 1E (2,400) 1 7 FrLL £(0)F 2 MRAE A, A TUIER;

B i,

KA F0)=5>0, f(2)=2"-3x2°+5=1>0, ArUAABESZERIE A 2,
T E F(0) A HACE 1 AF A, B TS 1R;

C T,

AAFR-x)+ f(x)=2-x) =32-x)"+5+x =3x"+5=[2—-x)’ +x’]-3(4—4x+x")=3x" +10

=2—x+X)[2-x) —Q-x)x+x°]-6x" +12x—2=2(4—4x+x" - 2x+x" +x°)—6x"+12x—2=6,
FirCA AL (1,3) /2 12k y = £(x) BIRTFRAH Ly, i C TiIER ;

D T,

/_}ff(.?C):—3E]‘?%L= 3x2—6x=—3: ﬁﬁx%l:i x=1,
X f)=3, Brlh f(x)BIREEN SB3WVIELTTEN y-3=-3(x-1), BHE: y=-3x+6, W D IIEAH.
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(5] 2] CRERE f(x)=xe™" K f(x) B X R 5 HRAE.
: AR, f)=x+De" U f[(x)>0x>-1, f((x)<0x<-1,
MM £ () BRI R X TR] N (—o0,—1), LIRS IE X [A] A (—1,+00)

W () BWME F(-1)=—, TIRKIE.

] AR f(x) = fo'l, K7 () B X 1] 5 B A

(x +1)(x —2)

f: A, f'(x)=-

, LA () >0 -1<x<2, f(x)<0< x<-18ix>2,

MM £ (o) BRI 3E [X 8] 4 (—1,2), B X A A (—00,—1),  (2,+00),

WA ME F(—1)=—e» Bl £(2)=—
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[ 5] 3] (2022 « &=[F 25D KA £(x) =cosx + (x +1)sinx + 17EX[R] [0, 27] i /IME, s AMEDHHN C )
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2 2 2 2 2 2 ) 2
FRHr - 5% B fE | | HlE, f'(x)=-sinx+sinx+(x+1)cosx=(x+1)cosx
anp, f'(x)>0<z>cosx>0<z>0£x<§ﬁi3§<xs27r, f’(x)<0<:>cosx<0<:>§<x<32ﬂ,

}J\ﬁ‘ﬁf(x)??.[og)if, rz(;’f;)L\, 1E (%’,,M]J; A,

_Rf(£)=£+2>f(27z)=2, ﬁﬁuf(x)msz; f(0)=2>f(3—7r)=-—3—7r= ﬁﬁuf(x)mmz-—iz.
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[ 4) (2023 « i Z &%) UEBH: H¥o<x<1B, x—x* <sinx.
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W p(x)=x—x>—sinx(0<x<1), Me'(x)=1-2x-cosx>

P'(x)=—2+sinx <0, FTLEL o/ (x)7E (0,1) LR, X /(0)=0, FTLhg/(x)<0,

i o(x) 76 (0,1) _EHIER, KA e(0)=0, Frllo(x) <0, Elx—x>—sinx<0, # x—x" <sinx.

(A5t ] CAIE L F(x) =0, SR () 7E [e,e?] LMK,

x—1

l(Jc:—l)—lnx l—l—lnx
ﬁgi ﬁ%ﬂ%r 'x :x = S
e (x=1)° (1)

, 1 1 11—
¥ g(x)=1-——Inx(e<x<e’), Mgx)=—-—=—
X X X X

Rg(e)zl—-l—lnez—é<0, FITLL g(x) <0, M f'(x) <0,
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W f(x) fE [e,e” ] LERERRE, FTLL f(x), = fe)=—.
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g(x) 1L [e,e”] L LA L,

1. (2022 « ERFEHL « k) BB f(x)=x———SInx BRI IX AN ¢ )
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2. (2021 « 2EFHTIEL « k) CHRla>0Ha=l, @iﬁf(x)zg(x>0),
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a=2, X f(x)HIE

3. (2022 « Ik =H « %K) CHIREL f(x)=x-2sinx, 3K f(x) 1

= (0, 7) IR,

|

1

X




4. (2022 « APNHAR « k) CHIRKZEL £ (x) :xex—%xz —x—1, RERZE £ (x) HIRAE.

5. (2022 « BAHAAR « dekk) CRTEREL f(x)=2xlnx—%x2 —x+2, 3R f(x)1E (0,2] LRI E/ME.

6. (2022 « KA » dkk) CATRREL f(x):§+lnx—x, K () B BRI [XC[H].,
X

7. (2023 « EHHTTIZEL « ok k) SH F(x)=ax— SN 3 , xe(0,2). #a=8, I £ (x) I HL TR
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